
   



   

                                                                     

2-9 10-19 20-29 30-39 40-49 50-99 100+ Total 
CLASS  SUB-
SECTIONS 

           73          184          148            87            11            15            10          528 

 

  

Common Data Set 2022-2023 

I-3.  Undergraduate  Class  Size 

In  the  table  below,  please  use  the  following  definitions  to  report  information  about  the  size  of  classes  and  
class  sections  offered  in  the  Fall  2022  term. 

•      Please  include  classes  that  have  been  moved  online  in  response  to  the  COVID-19  pandemic. 

Class  Sections:   A  class  section  is  an  organized  course  offered  for  credit,  identified  by  discipline  and  
number,  meeting  at  a  stated  time  or  times  in  a  classroom  or  similar  setting,  and  not  a  subsection  such  as  
a  laboratory  or  discussion  session.  Undergraduate  class  sections  are  defined  as  any  sections  in  which  at  
least  one  degree-seeking  undergraduate  student  is  enrolled  for  credit.  Exclude  distance  learning  classes  
and  noncredit  classes  and  individual  instruction  such  as  dissertation  or  thesis  research,  music  instruction,  
or  one-to-one  readings.  Exclude  students  in  independent  study,  co-operative  programs,  internships,  
foreign  language  taped  tutor  sessions,  practicums,  and  all  students  in  one-on-one  classes.  Each  class  
section  should  be  counted  only  once  and  should  not  be  duplicated  because  of  course  catalog  cross-
listings. 
Class  Subsections:   A  class  subsection  includes  any  subsection    0003>Tj
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